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Read the following instructions carefully before you begin to answer the questions.

Instructions to the candidates
1. Before you start to answer the questions you must check this

booklet and ensure that it contains all the pages (40) and see that
no page or portion thereof is missing or repeated. Candidates are
also required to check that they have got the right question booklet
strictly for the post candidate has applied for and printed on the
Admit Card. If you find any defect in this Booklet, you must get it
replaced immediately.

2. OMR Answer-Sheet is within the Question booklet. Please ensure
OMR Answer-Sheet number and Test Booklet No. of Question
Paper are same. Read the instructions printed on OMR Answer
sheet carefully before filling the information on the OMR Answer-
Sheet. You must complete and code all the details on the OMR
answer sheet correctly failing which your answer sheet may
not be evaluated. You must also put your signature on the OMR
Answer-Sheet at the prescribed place before you actually start
answering the questions. These instructions must be fully
complied with, failing which, your OMR Answer-Sheet may not
be evaluated.

3. The OMR answer sheet will be in triplicate (Original and two
carbon copies). Candidate has to take one carbon copy (marked as
‘candidate copy’) with him/her after examination and handover the
original OMR along with one carbon copy to invigilator. If candidate
fails to handover the original OMR along with one carbon copy to
invigilator, his/her candidature will be cancelled. Further, if the
candidate tampers with candidate OMR carbon copy and claims
for same, in that case also his/her candidature will be cancelled.

4. This booklet consists of 100 multiple choice questions. Each
question has 4 (four) alternatives (a), (b), (c), and (d). In any case
only one alternative will be the correct answer. In case if you find
more than one correct answer, then choose the most appropriate
single option and darken the appropriate circle in the answer
sheet in front of the related question.

5. For each correct answer One mark will be given and for each
incorrect answer 0·25 marks will be deducted.

6. Use Black/Blue ball point Pen to darken the circle. Answer once
darkened is not allowed to be erased or altered. Against any
question if more than one circle is darkened, machine will allot
zero mark for that question.

7. Do not fold OMR Answer-Sheet in any case.
8. No rough work is to be done on the Answer-Sheet. Space for rough

work has been provided in this booklet.
9. Mobile phones and wireless communication devices are completely

banned in the examination hall/rooms. Candidates are advised
not to keep mobile phones/any other wireless communication
devices with them even switching it off, in their own interest.
Failing to comply with this provision will be considered as using
unfair means in the examination and action will be taken against
them including cancellation of their candidature.

10. Candidate should not leave the examination hall/room without
handing over his/her Answer sheet to the invigilator and
without signing on the attendance sheet at proper place against
your roll number, further candidate should also ensure that
booklet no., booklet series and OMR answer sheet no. are correctly
written on attendance sheet before signing on it, failing in
doing so, may lead to disqualification/ no evaluation of OMR
Answer-Sheet.

11. In case of any discrepancy found in Hindi language, English version
will be treated as final.

Cå‘rXdmam| Ho$ {bE AZwXoe
1. àým| Ho$ CÎma {bIZm Ama§^ H$aZo go nhbo Amn Bg nwpñVH$m H$s Om±M H$aHo$ gw{Z{üV H$a

b| {H$ Bg‘| nyao n¥ð> (40) h¢ VWm H$moB© n¥ð> ¶m CgH$m ^mJ H$‘ ¶m Xþ~mam Vmo Zht Am J¶m
h¡& Cå‘rXdmam| H$mo ¶h ^r Om§°M H$aZr h¡ {H$ CZH$mo ghr narjm-nwpñVH$m {‘br h¡ {OgHo$
{bE CÝhm|Zo AmdoXZ {H$¶m h¡ Am¡a Omo CZHo$ Admit Card ‘| N>nm h¡& ¶{X Amn Bg
nwpñVH$m ‘| H$moB© Ìw{Q> nmE±>, Vmo VËH$mb BgHo$ ~Xbo Xÿgar nwpñVH$m b|&

2. AmooE‘oAmao CÎma erQ>> àý-nwpñVH$m ‘| hr CnbãY ahoJr& H¥$n¶m gw{Z{üV H$a| {H$ AmooE‘oAmao
CÎma erQ> g§»¶m Am¡a narjU nwpñVH$m g§»¶m g‘mZ h¢& AmooE‘oAmao CÎma erQ>> na OmZH$mar ̂ aZo
go nhbo AmooE‘oAmao CÎma erQ> na N>no {ZX}em| H$mo Ü¶mZ go n‹T>|& AmnH$mo AmooE‘oAmao CÎma erQ>
na g^r {ddaUm| H$mo ghr T>§J go nyam Am¡a H$moS> H$aZm hmoJm& Eogm Z H$aZo na AmnH$s CÎma erQ> H$m
‘yë¶m§H$Z Zht {H$¶m Om gH$Vm h¡& àým| H$m CÎma XoZm ewê$ H$aZo go nhbo AmnH$mo AmooE‘oAmao CÎma
erQ> na {X¶o JE {ZYm©[aV ñWmZ na AnZm hñVmja H$aZm hmoJm& BZ {ZX}em| H$m nyU© ê$n go nmbZ
{H$¶m OmZm Mm{hE& Eogm Z H$aZo  na AmnH$s AmooE‘oAmao CÎma erQ> H$m ‘yë¶m§H$Z Zht {H$¶m Om
gH$Vm&

3. AmooE‘oAmao CÎma erQ>> VrZ à{V¶m| ‘| hm|Jr (‘yb VWm H$m~©Z H$s Xmo à{V{b{n¶m±)& narjm
g‘m{á Ho$ ~mX AmooE‘oAmao CÎma> erQ H$s ‘yb erQ> VWm EH$ H$m~©Z à{V{b{n {ZarjH$
H$mo gm¢nZo Ho$ nümV² Cå‘rXdma AnZo gmW EH$ H$m~©Z à{V{b{n (Aä¶Wu à{V Ho$ ê$n ‘|
{M{•V {H$¶m J¶m) bo Om gH$Vo/gH$Vr h¢& ¶{X H$moB© ^r Cå‘rXdma Eogm H$aZo ‘| Ag’$b
ahVm/ahVr h¡, Vmo CgH$s Cå‘rXdmar aÔ H$a Xr Om¶oJr& ¶{X H$moB© Cå‘rXdma AnZr H$m~©Z
à{V{b{n ‘| {H$gr ̂ r àH$ma H$m ’o$a-~Xb H$a CgH$m Xmdm H$aVm/H$aVr h¡, Vmo Bg pñW{V
‘| ^r CgH$m/CgH$s Cå‘rXdmar aÔ H$s Om¶oJr&

4. Bg àý-nwpñVH$m ‘| 100 ~hþ{dH$ënr¶ àý h¢& àË¶oH$ àý Ho$ 4 (Mma) {dH$ën {XE JE
h¢, (a), (b), (c) Am¡a (d)& {H$gr ^r pñW{V ‘| àË¶oH$ àý H$m Ho$db EH$ {dH$ën hr
ghr CÎma h¡& ¶{X AmnH$mo EH$ go A{YH$ {dH$ën ghr bJo, Vmo g~go A{YH$ C{MV EH$
{dH$ën H$m MwZmd H$a| Am¡a CÎma-nwpñVH$m> ‘| g§~§{YV àý Ho$ gm‘Zo dmbo Cn¶wº$ Jmobo H$mo
H$mbm H$a|&

5. àË¶oH$ ghr CÎma Ho$ {bE 1 A§H$ {X¶m OmEJm Am¡a àË¶oH$ JbV CÎma Ho$ {bE 0·25 A§H$
H$mQ> {b¶m OmEJm&

6. Jmobo H$mo H$mbm H$aZo Ho$ {bE Ho$db H$mbo/Zrbo ~m°b ßdmB§Q> noZ H$m à¶moJ H$a|& Jmobo H$mo
EH$ ~ma H$mbm H$aZo Ho$ ~mX BgH$mo {‘Q>mZo ¶m ~XbZo H$s AZw‘{V Zht h¡& ¶{X {H$gr àý
Ho$ gm‘Zo EH$ go Á¶mXm Jmobo H$mbo {H$¶o JE hm|, Vmo ‘erZ Ûmam CgHo$ {bE eyÝ¶ A§H$ {X¶m
OmEJm&

7. {H$gr ^r pñW{V ‘| AmooE‘oAmao CÎma erQ> H$mo Z ‘mo‹S>|&

8. CÎma erQ> na H$moB© ̂ r aµ’$ H$m¶© Zht H$aZm h¡& aµ’$ H$m¶© Ho$ {bE Bg nwpñVH$m ‘| ñWmZ {X¶m
J¶m h¡&

9. narjm hm°b/H$‘amo§ ‘| ‘mo~mBb µ’$moZ VWm ~oVma g§Mma gmYZ nyar Vah {Z{fÕ h¡& Cå‘rXdmam|
H$mo CZHo$ AnZo {hV ‘| gbmh Xr OmVr h¡ {H$ ‘mo~mBb µ’$moZ/{H$gr AÝ¶ ~oVma g§Mma gmYZ
H$mo pñdM Am°’$ H$aHo$ ̂ r AnZo nmg Z aI|& Bg àmdYmZ H$m AZwnmbZ Z H$aZo H$mo narjm
‘| AZw{MV Cnm¶m| H$m à¶moJ ‘mZm Om¶oJm Am¡a CZHo$ {déÕ H$m¶©dmhr H$s OmEJr, {Og‘|
CZH$s Cå‘rXdmar aÔ H$aZm ^r em{‘b h¡&

10. Aä¶Wu AnZr CÎma erQ> n¶©dojH$ H$mo gm¢no {~Zm Am¡a AnZo amob Z§~a Ho$ gm‘Zo C{MV ñWmZ na
CnpñW{V nÌH$ na hñVmja {H$E {~Zm narjm hm°b/H$j go ~mha Zht Om gH$Vm& BgHo$ Abmdm
Aä¶Wu H$mo CnpñW{V nÌH$ na hñVmja H$aZo go nhbo ¶h ̂ r gw{Z{üV H$aZm Mm{hE {H$ ~wH$boQ>
Z§~a, ~wH$boQ> grarO Am¡a AmooE‘oAmao  CÎma erQ> g§»¶m ghr T>§J go {bIr JB© hmo& Eogm Z H$aZo
na, AmooE‘oAmao CÎma erQ> H$mo A‘mÝ¶ ‘mZm OmEJm/‘yë¶m§H$Z Zht {H$¶m Om gH$Vm h¡&

11. qhXr ̂ mfm ‘| {H$gr ̂ r AñdrH¥${V Ho$ ‘m‘bo ‘|, A§{V‘ ê$n go A§J«oOr g§ñH$aU ‘mÝ¶ hmoJm&

SA01/36-A

O~ VH$ Amngo Z H$hm OmE V~ VH$ àíZ-nwpñVH$m Z Immob|&/DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.

A
Test Booklet Series

Test Booklet Number

Cå‘rXdma H$m Zm‘ Cå‘rXdma Ho$ hñVmja
Name of Candidate : _____________________________________________ Signature of Candidate : _____________________________________



SA01/36-A ( 2 )

1. ¶{X gyMZm H$m g§~§Y AmaoQ>roAmB©o
A{Y{Z¶‘,  2005 Ho$ VhV {H$gr ì¶{º$ Ho$
OrdZ Am¡a ñdV§ÌVm go h¡, Vmo BgH$s Amnw{V©
Ho$ {bE {ZYm©[aV g‘¶-gr‘m ³¶m h¡?

(a) 24 K§Q>o Ho$ ^rVa

(b) 48 K§Q>mo Ho$ ^rVa

(c) nm±M {XZm| Ho$ ^rVa

(d) Xg {XZm| Ho$ ^rVa

2. AmaoQ>roAmB©o A{Y{Z¶‘, 2005 Ho$ AZwgma,
«̂m‘H$ OmZH$mar XoZo Ho$ {bE H|$Ðr¶ bmoH$

gyMZm A{YH$mar Ho$ {Ibm’$ à{V {XZ {H$VZm
Ow‘m©Zm bJm¶m OmZm h¡?

(a) R  100 à{V {XZ

(b) R  200 à{V {XZ

(c) R  250 à{V {XZ

(d) R  500 à{V {XZ

3. "AmaoQ>roAmB©o gámh' à{V df© _____ Ho$
Xm¡amZ ‘Zm¶m OmVm h¡&

(a) 5–12 Aà¡b

(b) 5–12 OyZ

(c) 5–12 A³Qy>~a

(d) 5–12 {Xg§~a

1. What is the time-limit
prescribed for supply of
information, if it concerns the
life and liberty of a person
under the RTI Act, 2005?

(a) Within 24 hours

(b) Within 48 hours

(c) Within five days

(d) Within ten days

2. As per the RTI Act, 2005, what
is the penalty per day to be
imposed against a Central
Public Information Officer for
giving misleading information?

(a) R  100 per day

(b) R   200 per day

(c) R   250 per day

(d) R   500 per day

3. ‘RTI Week’ is celebrated every
year during

(a) 5–12 April

(b) 5–12 June

(c) 5–12 October

(d) 5–12 December
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4. As per CCS (Conduct) Rules, no
Government servant shall

(a) in the performance of his
official duties, act in a
discourteous manner

(b) in his official dealings with
the public or otherwise
adopt dilatory tactics or
willfully cause delays in
disposal of the work
assigned to him

(c) Both (a) and (b)

(d) None of the above

5. Which CCS (Conduct) Rule
prevents the criticism of the
Government?

(a) Rule 8

(b) Rule 9

(c) Rule 7

(d) Rule 11

6. CCS (Joining Time) Rules
applies to

(a) all Central Government
servants appointed in Civil
Services

(b) Railway Employees

(c) Government servants, paid
out of contingencies

(d) All of the above

4. grgrEg (AmMaU) {Z¶‘m| Ho$ AZwgma, H$moB©
^r gaH$mar H$‘©Mmar _____ Zht H$aoJm&

(a) AnZo Am{YH$m[aH$ H$V©ì¶m| Ho$ nmbZ ‘|
Agä¶ VarHo$ go H$m¶©

(b) OZ gm‘mÝ¶ Ho$ gmW AnZo Am{YH$m[aH$
ì¶dhma ‘| ¶m AÝ¶Wm Q>mb-‘Q>mob H$s
aUZr{V Zht AnZmEJm ¶m Cgo gm¢no JE
H$m¶© Ho$ {ZñVmaU ‘| OmZ~yPH$a {db§~

(c) (a) Am¡a (b) XmoZm|

(d) Cnamoº$ ‘| go H$moB© Zht

5. H$m¡Z-gm grogroEgo (AmMaU) {Z¶‘ gaH$ma
H$s AmbmoMZm go amoH$Vm h¡?

(a) {Z¶‘ 8

(b) {Z¶‘ 9

(c) {Z¶‘ 7

(d) {Z¶‘ 11

6. grogroEgo (ÁdmBqZJ Q>mB‘) {Z¶‘ {H$g na
bmJy hmoVm h¡?

(a) {g{db godm ‘| {Z¶wº$ g^r H|$Ðr¶
gaH$mar H$‘©Mmar

(b) aobdo H$‘©Mmar

(c) gaH$mar H$‘©Mmar H$mo, AmH$pñ‘H$Ë¶¶ go
ŵJVmZ {H$¶m OmVm h¡

(d) Cnamoº$ g^r
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7. Joining time may be combined
with vacation/regular leave,
except

(a) Earned leave

(b) Half pay leave

(c) Casual leave

(d) Extra ordinary leave

8. Which allowance is not
admissible during Joining
Time?

(a) HRA

(b) Coveyance Allowance

(c) Dearness Allowance

(d) City Compensatory
Allowance

9. Service book is required to be
shown to the official every _____
and his/her signature be
obtained.

(a) year

(b) half-year

(c) quarter

(d) month

7. H$m¶©̂ ma J«hU H$aZo Ho$ g‘¶ H$mo _____ H$mo
N>mo‹S>H$a AdH$me/{Z¶{‘V AdH$me Ho$ gmW
Omo‹S>m Om gH$Vm h¡&

(a) A{O©V AdH$me

(b) AY© doVZ AdH$me

(c) AmH$pñ‘H$ AdH$me

(d) AgmYmaU AdH$me

8. Om°BqZJ Q>mB‘ Ho$ Xm¡amZ H$m¡Z-gm ^Îmm
ñdrH$m¶© Zht h¡?

(a) EMoAmaoEo

(b) dmhZ ^Îmm

(c) ‘h§JmB© ^Îmm

(d) eha à{VnyaH$ ^Îmm

9. godm nwpñVH$m H$mo àË¶oH$ _____ H$‘©Mmar H$mo
{XImZm Am¡a CgHo$ hñVmja àmá H$aZm
Amdí¶H$ h¡&

(a) df©

(b) N>‘mhr

(c) {V‘mhr

(d) ‘mh
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10. Verification and communication
of qualifying service should be
done after the

(a) completion of 10 years of
service or 3 years before the
date of retirement

(b) completion of 5 years of
service or 2 years before the
date of retirement

(c) completion of 15 years of
service or 7 years before the
date of retirement

(d) completion of 18 years of
service or 5 years before the
date of retirement

11. When is Permanent Travelling
Allowance admissible?

(a) During temporary transfer

(b) During leave

(c) During joining time

(d) When a Government
Servant is required to travel
extensively in his duty

12. What is the minimum service
required to avail Leave Travel
Concession benefits?

(a) Completion of one year’s
continuous service

(b) Completion of two year’s
continuous service

(c) Completion of three year’s
continuous service

(d) Completion of four year’s
continuous service

10. Ah©H$ godm H$m gË¶mnZ Am¡a g§Mma _____
Ho$ ~mX {H$¶m OmZm Mm{hE&

(a) 10 df© H$s godm nyar H$aZo ¶m
godm{Zd¥{Îm H$s {V{W go 3 df© nhbo

(b) 5 df© H$s godm nyar H$aZo ¶m godm{Zd¥{Îm
H$s {V{W go 2 df© nhbo

(c) 15 df© H$s godm nyar H$aZo ¶m
godm{Zd¥{Îm H$s {V{W go 7 df© nhbo

(d) 18 df© H$s godm nyar H$aZo ¶m
godm{Zd¥{Îm H$s {V{W go 5 df© nhbo

11. ñWm¶r ¶mÌm ^Îmm H$~ ñdrH$m¶© h¡?

(a) AñWm¶r ñWmZm§VaU Ho$ Xm¡amZ

(b) AdH$me Ho$ Xm¡amZ

(c) ÁdmBqZJ Q>mB‘ Ho$ Xm¡amZ

(d) O~ {H$gr gaH$mar H$‘©Mmar H$mo AnZr
S²>¶yQ>r Ho$ Xm¡amZ AË¶{YH$ ¶mÌm H$aZr
n‹S>Vr h¡

12. AdH$me ¶mÌm [a¶m¶V H$m bm^ CR>mZo Ho$ {bE
Amdí¶H$ Ý¶yZV‘ godm ³¶m h¡?

(a) EH$ df© H$s {Za§Va godm nyU© H$aZm

(b) Xmo df© H$s {Za§Va godm nyU© H$aZm

(c) VrZ df© H$s {Za§Va godm nyU© H$aZm

(d) Mma df© H$s {Za§Va godm nyU© H$aZm
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13. Whether Leave Travel Con-
cession allowed to Government
employee while on ‘Study
Leave’?

(a) Not allowed

(b) Allowed for self only

(c) Allowed for family only

(d) Allowed

14. Willful absence from duty is
treated as dies non for the
purpose of

(a) increment

(b) leave

(c) pension

(d) All of the above

15. Supernumerary post is a

(a) Ad-hoc post

(b) Temporary post

(c) Shadow post

(d) Ex-cadre post

16. As per the GFR, what is the
financial limit for the purchase of
goods without quotation or bids?

(a) R   25,000

(b) R   1,00,000

(c) R   5,00,000

(d) R   10,00,000

13. ³¶m "AÜ¶¶Z AdH$me' na ahVo hþE gaH$mar
H$‘©Mmar H$mo AdH$me ¶mÌm [a¶m¶V H$s
AZw‘{V h¡?

(a) AZw‘{V Zht h¡

(b) Ho$db ñd¶§ Ho$ {bE AZw‘{V h¡

(c) Ho$db n[adma Ho$ {bE AZw‘{V h¡

(d) AZw‘{V h¡

14. S>²¶yQ>r go OmZ~yP H$a AZwnpñW{V H$mo  _____
Ho$ à¶moOZ Ho$ {bE AH$m¶© {Xdg ‘mZm OmVm
h¡&

(a) doVZ d¥{Õ

(b) AdH$me

(c) n|eZ

(d) Cnamoº$ g^r

15. A{Yg§»¶ nX EH$ _____ h¡&

(a) VXW© nX

(b) AñWm¶r nX

(c) e¡S>mo nX

(d) E³g-H¡$S>a nX

16. OroE’$oAmao Ho$ AZwgma, H$moQ>oeZ ¶m ~mobr Ho$
{~Zm ‘mb H$s IarX Ho$ {bE {dÎmr¶ gr‘r
³¶m h¡?

(a) R 25,000

(b) R 1,00,000

(c) R 5,00,000

(d) R 10,00,000



SA01/36-A ( 7 ) [ P.T.O.

17. As per GFR, fixed assets should
be verified at least once in

(a) 5 years

(b) 1 year

(c) 3 years

(d) 4 years

18. What is the monthly contri-
bution by Government servants
to the New Pension Scheme?

(a) 10% of Basic Pay plus DA

(b) 12% of Basic Pay plus DA

(c) 7·5% of Basic Pay plus DA

(d) 9% of Basic Pay plus DA

19. How many times can withdrawal
under NPS be allowed during
the entire tenure of
subscription?

(a) A maximum of six times

(b) A maximum of three times

(c) A maximum of two times

(d) A maximum of four times

17. OroE’$oAmao Ho$ AZwgma, AMb g§n{Îm¶m| H$mo
_____ ‘| H$‘ go H$‘ EH$ ~ma gË¶m{nV
{H$¶m OmZm Mm{hE&

(a) 5 df©

(b) 1 df©

(c) 3 df©

(d) 4 df©

18. ZB© n|eZ ¶moOZm ‘| gaH$mar H$‘©Mm[a¶m| X²dmam
‘m{gH$ ¶moJXmZ {H$VZm h¡?

(a) ‘yb doVZ VWm S>roEo H$m 10%

(b) ‘yb doVZ VWm S>roEo H$m 12%

(c) ‘yb doVZ VWm S>roEo H$m 7·5%

(d) ‘yb doVZ VWm S>roEo H$m 9%

19. gXñ¶Vm H$s nyar Ad{Y Ho$ Xm¡amZ EZonroEgo

Ho$ A§VJ©V {H$VZr ~ma {ZH$mgr H$s AZw‘{V Xr
Om gH$Vr h¡?

(a) A{YH$V‘ N>h ~ma

(b) A{YH$V‘ VrZ ~ma

(c) A{YH$V‘ Xmo ~ma

(d) A{YH$V‘ Mma ~ma
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20. When shall a Government
servant retire voluntarily from
service, by giving notice of not
less than three (3) months in
writing to the appointing
authority?

(a) On completion of 10 years’
of qualifying service

(b) On completion of 20 years’
of qualifying service

(c) On completion of 25 years’
of qualifying service

(d) On completion of 30 years’
of qualifying service

21. What age is prescribed for
annual medical examination for
the Group ‘A’ Officers of Central
Civil Services?

(a) 35 years and above

(b) 40 years and above

(c) 50 years and above

(d) 55 years and above

22. What is the quantum of the
death gratuity payable, if a
Government servant dies within
one year from the date of
joining into the Government
service?

(a) No gratuity is eligible

(b) Two times the emoluments

(c) One month of last pay drawn

(d) 50% of emoluments drawn
at the time of death

20. EH$ gaH$mar H$‘©Mmar {Z¶w{º$ àm{YH$mar H$mo
{b{IV ê$n ‘| H$‘ go H$‘ VrZ (3) ‘hrZo
H$m Zmo{Q>g XoH$a H$~ ñdoÀN>m go godm go
godm{Zd¥V hmoJm?

(a) Ah©H$ godm Ho$ 10 df© nyao hmoZo na

(b) Ah©H$ godm Ho$ 20 df© nyao hmoZo na

(c) Ah©H$ godm Ho$ 25 df© nyao hmoZo na

(d) Ah©H$ godm Ho$ 30 df© nyao hmoZo na

21. Ho$ÝÐr¶ {g{db godm Ho$ g‘yh "H$' A{YH$m[a¶m|
Ho$ {bE dm{f©H$ {M{H$Ëgm narjm Ho$ {bE
{ZYm©[aV Am¶w ³¶m h¡?

(a) 35 df© Am¡a Cggo A{YH$

(b) 40 df© Am¡a Cggo A{YH$

(c) 50 df© Am¡a Cggo A{YH$

(d) 55 df© Am¡a Cggo A{YH$

22. ¶{X {H$gr gaH$mar H$‘©Mmar H$s gaH$mar godm
‘| em{‘b hmoZo H$s VmarI go EH$ df© Ho$ ^rVa
‘¥Ë¶w hmo OmVr h¡, Vmo Xo¶ ‘¥Ë¶w CnXmZ H$s ‘mÌm
³¶m h¡?

(a) CnXmZ Ho$ {bE nmÌ Zht h¡

(b) n[abpãY¶m| H$m Xmo JwZm

(c) Amh[aV A§{V‘ doVZ H$m EH$ ‘hrZm

(d) ‘¥Ë¶w Ho$ g‘¶ Amh[aV n[abpãY¶m| H$m
50%
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23. What is the minimum qualifying
service required for retirement
gratuity under NPS?

(a) Completed 5 years’
qualifying service

(b) Completed 10 years’ quali-
fying service

(c) Completed 20 years’ quali-
fying service

(d) Completed 33 years’ quali-
fying service

24. Can gratuity be paid to a
Government servant, if the
departmental or judicial
proceedings are pending?

(a) 50% of gratuity may be paid

(b) 75% of the eligible gratuity
may be paid

(c) Full gratuity may be paid

(d) No gratuity shall be paid
until issue of final orders

25. How many days of leave is
granted to a female Government
servant in case of death of a
child soon after birth/stillbirth?

(a) 45 days

(b) 60 days

(c) 75 days

(d) 90 days

23. EZonroEeo Ho$ VhV godm{Zd¥{Îm J«oÀ¶wQ>r Ho$
{bE Amdí¶H$ Ý¶yZV‘ ¶mo½¶Vm godm ³¶m h¡?

(a) 5 df© H$s Ah©H$mar godm nyar hmooZo na

(b) 10 df© H$s Ah©H$mar godm nyar hmooZo na

(c) 20 df© H$s Ah©H$mar godm nyar hmooZo na

(d) 33 df© H$s Ah©H$mar godm nyar hmooZo na

24. ³¶m {H$gr gaH$mar H$‘©Mmar H$mo CnXmZ H$m
ŵJVmZ {H$¶m Om gH$Vm h¡, ¶{X {d^mJr¶ ¶m

Ý¶m{¶H$ H$m¶©dmhr b§{~V h¡?

(a) CnXmZ H$m 50% ŵJVmZ {H$¶m Om
gH$Vm h¡

(b) nmÌ CnXmZ H$m 75% ŵJVmZ {H$¶m Om
gH$Vm h¡

(c) nyU© CnXmZ H$m ^wJVmZ {H$¶m Om gH$Vm
h¡

(d) A§{V‘ AmXoe Omar hmoZo VH$ H$moB© CnXmZ
H$m ŵJVmZ Zht {H$¶m OmEJm

25. OÝ‘/‘¥VOÝ‘ Ho$ Vw§a§V ~mX ~ƒo H$s ‘¥Ë¶w Ho$
‘m‘bo ‘| ‘{hbm gaH$mar H$‘©Mmar H$mo {H$VZo
{XZm| H$s Nw>Å>r Xr OmVr h¡?

(a) 45 {XZ

(b) 60 {XZ

(c) 75 {XZ

(d) 90 {XZ
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26. As per CCS (CCA) Rules, what is
the maximum period of
suspension that can be
extended at a time after review
of the Competent Authority?

(a) 120 days

(b) 150 days

(c) 180 days

(d) 240 days

27. Which of the following written
communication is generally
used in correspondence by one
Government Officer with
another with the purpose of
drawing his/her personal
attention in an official matter of
importance and/or urgency?

(a) Demi-official letter

(b) Letter

(c) Office Memorandum

(d) Office order

28. What does category ‘A’ file mean
as per CSMOP 2022?

(a) Files which qualify for
permanent preservation and
to be micro-filmed

(b) Files to be kept for specified
period only

(c) Files to be preserved but not
micro-filmed

(d) Administrative files with
each department

26. grogroEgo (grogroEo) {Z¶‘m| Ho$ AZwgma,
gj‘ àm{YH$mar H$s g‘rjm Ho$ ~mX {Zb§~Z
H$s A{YH$V‘ Ad{Y ³¶m h¡ {Ogo EH$ g‘¶
‘| ~‹T>m¶m Om gH$Vm h¡?

(a) 120 {XZ

(b) 150 {XZ

(c) 180 {XZ

(d) 240 {XZ

27. {ZåZ{b{IV ‘| go H$m¡Z-gm {b{IV g§Mma
Am‘ Vm¡a na EH$ gaH$mar A{YH$mar X²dmam
Xÿgao Ho$ gmW nÌmMma ‘| Cn¶moJ {H$¶m OmVm
h¡, {OgH$m CÔooí¶ ‘hÎd Am¡a/¶m
VmËH$m{bH$Vm Ho$ A{YH$m[aH$ ‘m‘bo ‘| CgH$m
CgH$s / ì¶{º$JV Ü¶mZ AmH${f©V H$aZm h¡?

(a) AY©-emgH$s¶ nÌ

(b) nÌ

(c) H$m¶m©b¶ kmnZ

(d) H$m¶m©b¶ AmXoe

28. groEgoE‘oAmoonro 2022 Ho$ AZwgma loUr
"E' ’$mBb H$m ³¶m AW© h¡?

(a) do µ’$mBb| Omo ñWm¶r g§ajU Ho$ ¶mo½¶ h¢
Am¡a {OZH$m ‘mBH«$mo-{’$ë‘m§H$Z {H$¶m
OmZm h¡

(b) µ’$mBb| Ho$db {Z{X©ï> Ad{Y Ho$ {bE hr
aIr OmE§Jr

(c) µ’$mBb| Omo g§a{jV H$s OmZr h¡ bo{H$Z
‘mBH«$mo-{µ’$ë‘ Zht H$s OmE§Jr

(d) àË¶oH$ {d^mJ Ho$ nmg àemg{ZH$ µ’$mBb|



SA01/36-A ( 11 ) [ P.T.O.

29. In cases where both the spouses
are Central Government
employees and are both eligible
for grant of HBA, the advance
will be admissible to

(a) both of them jointly/
separately

(b) the one with more basic pay

(c) wife

(d) husband

30. Repayment of HBA advance
for principal and for interest
is done for _____ instalments
(maximum) respectively.

(a) 150 and 80

(b) 120 and 60

(c) 180 and 60

(d) 160 and 50

31. What is the permissible period
for retention of accommodation
on payment of normal license
fee in General Pool of
Residential Accommodation
(GPRA) to an allottee in the
event of retirement/voluntary
retirement/retirement on
medical grounds?

(a) 1 month

(b) 6 months

(c) 2 months

(d) 12 months

29. Eogo ‘m‘bm| ‘| Ohm§ XmoZm| n{V-nËZr H|$Ðr¶
gaH$ma Ho$ H$‘©Mmar h¢ Am¡a XmoZm| EMo~roEo

AZwXmZ Ho$ {bE nmÌ h¡, A{J«‘ _____ H$mo
ñdrH$m¶© hmoJm&

(a) XmoZm| g§¶wº$ ê$n go / AbJ-AbJ

(b) A{YH$ ‘yb doVZ dmbm

(c) nËZr

(d) n{V

30. ‘ybYZ Am¡a ã¶mO Ho$ {bE EMo~roEo A{J«‘
H$m nwZ^w©JVmZ H«$‘e… _____ {H$íVm|
(A{YH$V‘) ‘| {H$¶m OmVm h¡&

(a) 150 Am¡a 80

(b) 120 Am¡a 60

(c) 180 Am¡a 60

(d) 160 Am¡a 50

31. {M{H$Ëgm AmYma na godm{Zd¥{Îm/ñd¡pÀN>H$
godm{Zd¥{Îm/godm{Zd¥{Îm H$s pñW{V ‘| {H$gr
Am~§{Q>Vr H$mo [ahm¶er Amdmg Ho$ gm‘mÝ¶ nyb
(OronroAmaoEo) ‘| gm‘mÝ¶ bmBg§og ewëH$ Ho$
ŵJVmZ na Amdmg ~ZmE aIZo Ho$ {bE

AZw‘o¶ Ad{Y ³¶m h¡?

(a) 1 ‘hrZm

(b) 6 ‘hrZo

(c) 2 ‘hrZo

(d) 12 ‘hrZo
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32. Which of the following methods
is used for disposal of surplus or
obsolete or unserviceable goods
of assessed residual value above
R  2 Lakhs?

(a) By public auction or
obtaining bids through
advertised tender

(b) By single tender system

(c) By limited tender system

(d) By a reputed dealer

33. What is the maximum amount
of LTC advance admissible to a
Government servant?

(a) 50% of the estimated cost of
journeys both ways

(b) 75% of the estimated cost of
journeys both ways

(c) 90% of the estimated cost of
journeys both ways

(d) 80% of the estimated cost of
journeys both ways

34. Making of entries in the notes
portion of a file about the serial
number assigned to each item
of correspondence (whether
receipt or issue) for its
identification is known as _____.

(a) indexing

(b) docketing

(c) referencing

(d) All of the above

32. R2 bmI go A{YH$ ‘yë¶m§{H$V Ad{eï> ‘yë¶
Ho$ A{Yeof ¶m Aà{MbV ¶m AZwn¶moJr
gm‘mZm| Ho$ {ZnQ>mZ Ho$ {bE {ZåZ{b{IV ‘| go
{H$g {d{Y H$m Cn¶moJ {H$¶m OmVm h¡?

(a) gmd©O{ZH$ Zrbm‘r Ûmam ¶m {dkm{nV
{Z{dXm Ho$ ‘mÜ¶‘ go ~mo{b¶m± àmá H$aZm

(b) EH$b {Z{dXm àUmbr Ûmam

(c) gr{‘V {Z{dXm àUmbr Ûmam

(d) EH$ à{V{ð>V S>rba Ûmam

33. gaH$mar H$‘©Mmar H$mo ñdrH$m¶© EboQ>rogro
A{J«‘ H$s A{YH$V‘ am{e ³¶m h¡?

(a) XmoZm| Va’$ go ¶mÌm H$s AZw‘m{ZV bmJV
H$m 50%

(b) XmoZm| Va’$ go ¶mÌm H$s AZw‘m{ZV bmJV
H$m 75%

(c) XmoZm| Va’$ go ¶mÌm H$s AZw‘m{ZV bmJV
H$m 90%

(d) XmoZm| Va’$ go ¶mÌm H$s AZw‘m{ZV bmJV
H$m 80%

34. {H$‘r µ’$mBb Ho$ ZmoQ²>g ^mJ ‘| nÌmMma Ho$
àË¶oH$ AmBQ>‘ (Mmho agrX hmo ¶m Omar) H$mo
CgH$s nhMmZ Ho$ {bE {Z{X©ï> H«$‘ g§»¶m Ho$
~mao ‘| à{d{ï>¶m± H$aZm _____ H$hbmVm h¡&

(a) AZwH«$‘U

(b) S>m°Ho$qQ>J

(c) g§X ©̂ XoZm

(d) Cnamoº$ g^r
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35. Which of the following bodies as
are established by the
Government to discharge the
activities which are related to
governmental functions? Such
bodies are given sovereign to
discharge their functions in
accordance with the
Memorandum of Associations.

(a) Statutory body

(b) Autonomous body

(c) Constitutional body

(d) All of the above

36. Which of the following
documents is devised by the
respective Ministries/
Departments to deal with cases
of repetitive nature e.g. leave
sanction, GPF advances, HBA
etc. No notes need be recorded
in such cases.

(a) Form S-10

(b) Work Proforma Sheet

(c) Standard Process Sheet

(d) All of the above

37. Permission for voluntary
retirement on notice of a
Government employee under FR
56(k) cannot be withheld _____.

(a) if the employee is under
suspension

(b) if charge sheet has been
issued against the employee

(c) if judicial proceedings on
charges of grave misconduct
are pending against the
employee

(d) on ground of exigencies of
administration

35. {ZåZ{b{IV ‘| go H$m¡Z-gm {ZH$m¶ gaH$mar
H$m¶m] go g§~§{YV J{V{d{Y¶m| Ho$ {Zd©hZ Ho$
{bE gaH$ma Ûmam ñWm{nV {H$¶m J¶m h¡? Eogo
{ZH$m¶m| H$mo Egmo{gEeZ Ho$ kmnZ Ho$ AZwgma
AnZo H$m¶m] H$m {Zd©hZ H$aZo Ho$ {bE g§à ŵVm
Xr JB© h¡>&

(a) gm§{d{YH$ {ZH$m¶

(b) ñdm¶Îm {ZH$m¶

(c) g§d¡Ym{ZH$ {ZH$m¶

(d) Cnamo³V g^r

36. {ZåZ{b{IV ‘| go H$m¡Z-gm XñVmdoO g§~§{YV
‘§Ìmbmo¶m|/{d^mJm| Ûmam Xmohamd dmbo àH¥${V Ho$
‘m‘bm| O¡go AdH$me H$s ñdrH¥${V, OronroE’$o
A{J«‘, EMo~roEo Am{X go {ZnQ>Zo Ho$ {bE
V¡¶ma {H$¶m J¶m h¡& Eogo ‘m‘bm| ‘| H$moB© ZmoQ>
XO© H$aZo H$s AmdeæH$Vm Zht h¡&

(a) ’$m°‘© S-10

(b) H$m¶© àmo’$m‘m© erQ>

(c) ‘mZH$ à{H«$¶m erQ>

(d) Cnamoº$ g^r

37. FR 56(k) Ho$ A§VJ©V {H$gr gaH$mar H$‘©Mmar
H$s gyMZm na ñd¡pÀN>H$ godm{Zd¥{Îm H$s AZw‘{V
H$mo amoH$m Zht Om gH$Vm _____&

(a) ¶{X H$‘©Mmar {Zb§{~V h¡

(b) ¶{X H$‘©Mmar Ho$ {déÕ Amamon nÌ Omar
{H$¶m J¶m h¡

(c) ¶{X H$‘©Mmar Ho$ {Ibm’$ J§^ra H$XmMma
Ho$ Amamon ‘| Ý¶m{¶H$ H$m¶©dmhr b§{~V h¡

(d) àemgZ H$s AË¶mdí¶H$VmAm| Ho$ AmYma
na
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38. When an employee is under
suspension for a part of the
calendar month, transport
allowance is allowable at the
rate of

(a) full amount of entitlement

(b) 50% of the amount of
entitlement

(c) proportionate amount for
the period not under
suspension

(d) Nil

39. Under the CCS (Pension) Rules,
the term ‘minor’ means

(a) a person who has not
completed the age of 16
years

(b) a person who has not
completed the age of 18
years

(c) a person who has not
completed the age of 14
years

(d) a person who has not
completed the age 21 years
in case of male and 25 years
in case of female

40. Interest at rate applicable to
GPF deposit shall be paid, if the
payment of gratuity is delayed
beyond the date of retirement
by

(a) 3 months

(b) 6 months

(c) 9 months

(d) 12 months

38. O~ H$moB© H$‘©Mmar H¡$b§oS>a ‘mh Ho$ EH$ ^mJ
Ho$ {bE {Zb§{~V hmoVm h¡, Vmo n[adhZ ^Îmm
_____ H$s Xa go ñdrH$m¶© hmoVm h¡&

(a) nmÌVm H$s nyar am{e

(b) nmÌVm H$s am{e H$m 50%

(c) Vmo J¡a-{Zb§{~V Ad{Y Ho$ {bE
AmZwnm{VH$ am{e

(d) eyÝ¶

39. CCS (n|eZ) {Z¶‘m| Ho$ A§VJ©V, "Zm~m{bJ'
eãX H$m AW© h¡

(a) EH$ ì¶{º$ {OgZo 16 df© H$s Am¶w nyar
Zht H$s h¡

(b) EH$ ì¶{º$ {OgZo 18 df© H$s Am¶w nyar
Zht H$s h¡

(c) EH$ ì¶{º$ {OgZo 14 df© H$s Am¶w nyar
Zht H$s h¡

(d) Eogm ì¶{º$ {OgZo nwéf Ho$ ‘m‘bo ‘| 21
df© Am¡a ‘{hbm Ho$ ‘m‘bo ‘| 25 df©
H$s Am¶w nyar Zht H$s

40. ¶{X J«oÀ¶wQ>r Ho$ ŵJVmZ ‘| godm{Zd¥{Îm H$s {V{W
go _____ H$s Xoar hmoVr h¡, Vmo GPF O‘m
na bmJy Xa na ã¶mO H$m ^wJVmZ {H$¶m
OmEJm&

(a) 3 ‘hrZo

(b) 6 ‘hrZo

(c) 9 ‘hrZo

(d) 12 ‘hrZo
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41. Under which rule, it is
mentioned that the Service
Book of Government Servant
shall be maintained in
duplicate?

(a) Rule 286

(b) Rule 287

(c) Rule 288

(d) Rule 289

42. Section 3-A of CCS (Conduct)
rules explain

(a) maintain absolute integrity

(b) promptness and courtesy

(c) maintain nothing which is
unbecoming of a
government servant

(d) All of the above

41. {H$g {Z¶‘ Ho$ VhV ¶h C„oI {H$¶m J¶m h¡
{H$ gaH$mar godH$ H$s godm nwpñVH$m Xmo à{V¶m|
‘| aIr OmEJr?

(a) {Z¶‘ 286

(b) {Z¶‘ 287

(c) {Z¶‘ 288

(d) {Z¶‘ 289

42. CCS AmMaU {Z¶‘m| H$s Ymam 3-A ‘|
~Vm¶m J¶m h¡

(a) nyU© gË¶{Zð>m ~ZmE aIZm

(b) VËnaVm Am¡a {eï>mMma

(c) Eogm Hw$N> ^r Zht aIZm Omo gaH$mar
H$‘©Mmar Ho$ {bE Aemô Zr¶ hmo

(d) Cnamoº$ g^r
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43. An Officer was drawing pay of
R 37,600 in Cell 3 of level 6
before his appointment to
officiate in level 7 carrying
duties and responsibilities
of greater importance. The
appointment was in the regular
cadre promotion. Comment on
fixation of his pay.

Pay Level Cell 1 Cell 2 Cell 3 Cell 4 

Level 6   37600 38700 

Level 7 44900 46200   

Pay Level Cell 5 Cell 6 Cell 7 Cell 8 

Level 6 39900 41100 42300 43600 

Level 7     

(a) His basic pay shall be fixed
at R 44,900 in level 7

(b) The increase in pay
comes to R 7,300 (R 44,900
R 37,600) shall be restricted
to R 6,700 and pay shall be
fixed at R 37,600 + personal
pay of R 6,700

(c) His basic pay shall be fixed
at R 42,300 in level 6
(R 37,600 + R 4,700 being
12·5% of R 37,600)

(d) His basic pay shall be fixed
at R 38,700 in level 6 till his
pay reaches at the
minimum of level 7

43. EH$ A{YH$mar 6 bodb Ho$ gob 3 ‘|
37,600 én¶o H$m doVZ bo ahm Wm, Omo {H$
bodb 7 ‘| A{YH$ ‘hÎd Ho$ H$V©ì¶m| Am¡a
{Oå‘oXm[a¶m| H$mo {Z^mZo Ho$ {bE {Z¶wº$ {H$¶m
J¶m Wm& {Z¶w{º$ {Z¶{‘V g§dJ© nXmoÞ{V ‘|
Wr& CZHo$ doVZ {ZYm©aU na {Q>ßnUr H$s{OE&

Pay Level Cell 1 Cell 2 Cell 3 Cell 4 

Level 6   37600 38700 

Level 7 44900 46200   

Pay Level Cell 5 Cell 6 Cell 7 Cell 8 

Level 6 39900 41100 42300 43600 

Level 7     

(a) CZH$m ‘yb doVZ ñVa 7 ‘| 44,900
én¶o V¶ {H$¶m OmEJm&

(b) doVZ ‘| d¥{Õ én¶o Ho$ {bE
AmVm h¡& R 7300 (é. 44,900 –
R 37,600) R 6,700 VH$ gr{‘V
hmoJm Am¡a doVZ R 37,600 +
R 6,700 Ho$ ì¶{º$JV doVZ na {ZYm©[aV
{H$¶m OmEJm

(c) CZH$m ‘yb doVZ R 42,300 én¶o Ho$
ñVa 6 ‘| {ZYm©[aV {H$¶m OmEJm
(é. 37,600 + é. 4,700,
é. 37,600 H$m 12·5%)

(d) CZH$m ‘yb doVZ ñVa 6 ‘|
R 38,700 én¶o {ZYm©[aV {H$¶m OmEJm
O~ VH$ {H$ CgH$m doVZ Ý¶yZV‘ ñVa
7 VH$ Zht nhþ§M OmVm
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44. If a Government servant claims
for commutation of one kind of
leave into another, he should
apply for commutation, within a
period of _____

(a) 15 days

(b) 30 days

(c) 45 days

(d) 90 days

45. If two spells of EOL is intervened
by leave of another kind, how
will it be treated for the purpose
of maximum limit?

(a) Two spells

(b) One continuous spell

(c) Different spells

(d) Not admissible

46. What is the HPL credit on
01.07.2023, if a govt. servant is
appointed on 02.01.2023?

(a) 15 days

(b) 10 days

(c) 6 days

(d) 8 days

44. ¶{X H$moB© gaH$mar H$‘©Mmar EH$ àH$ma Ho$
AdH$me H$mo Xÿgao àH$ma Ho$ AdH$me ‘|
n[ad{V©V H$aZo H$m Xmdm H$aVm h¡, Vmo Cgo
_____ H$s Ad{Y Ho$ ^rVa, n[adV©Z Ho$ {bE
AmdoXZ H$aZm Mm{hE&

(a) 15 {XZ

(b) 30 {XZ

(c) 45 {XZ

(d) 90 {XZ

45. ¶{X B©AmoEb Ho$ Xmo MaUm| ‘| {H$gr AÝ¶ àH$ma
Ho$ AdH$me Ûmam ~m{YV {H$¶m OmVm h¡, Vmo
A{YH$V‘ gr‘m Ho$ à¶moOZ Ho$ {bE Bgo H¡$go
‘mZm OmEJm?

(a) Xmo MaU

(b) EH$ {Za§Va MaU

(c) {d{^Þ MaU

(d) ñdrH$m¶© Zht h¡

46. ¶{X H$moB© gaH$mar H$‘©Mmar 02.01.2023
H$mo {Z¶wº$ {H$¶m OmVm h¡, Vmo 01.07.2023
H$mo HPL H«o${S>Q> ³¶m h¡?

(a) 15 {XZ

(b) 10 {XZ

(c) 6 {XZ

(d) 8 {XZ
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47. What is the retention period of
Standing Note?

(a) 1 year

(b) Weeded out as soon as the
revised version becomes
available

(c) Permanent

(d) 6 months

48. What is the period of retention
of Pay Bill Registers?

(a) 20 years

(b) 25 years

(c) 35 years

(d) 40 years

49. Who is responsible for the
maintenance of secret records
connected with the cabinet
meetings of Minister?

(a) The personal office of
Minister

(b) The Secretary

(c) The Section Officer of the
Ministry

(d) None of the above

47. ñWm¶r ZmoQ> H$s à{VYmaUm Ad{Y ³¶m h¡?

(a) 1 df©

(b) g§emo{YV nmR> CnbãY hmoVo hr N>§Q>mB© H$s
OmVr h¡

(c) ñWm¶r

(d) 6 ‘hrZo

48. doVZ {~b a{OñQ>am| H$s YmaU Ad{Y ³¶m h¡?

(a) 20 df©

(b) 25 df©

(c) 35 df©

(d) 40 df©

49. ‘§Ìr H$s H¡${~ZoQ> ~¡R>H$m| go Ow‹S>o Jwá A{^boIm|
Ho$ aIaImd Ho$ {bE H$m¡Z {Oå‘oXma hmoVm h¡?

(a) ‘§Ìr H$m {ZOr H$m¶m©b¶

(b) g{Md

(c) ‘§Ìmb¶ Ho$ AZŵ mJ A{YH$mar

(d) Cnamoº$ ‘| go H$moB© Zht
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50. Find out HPL at credit on
1.1.2024 in r/o an official
appointed on 6.2.2023 and not
availed any kind of leave till
31.12.2023.

(a) 26 days

(b) 27 days

(c) 17 days

(d) 16 days

51. In a pot, there is a mixture of
milk and water in the ratio of 4
: 5. If it is filled with an
additional 8 litres of milk, the
pot would be full and ratio of
milk and water would become 6
: 5. Find the capacity of the pot.

(a) 11

(b) 22

(c) 33

(d) 44

52. A rectangular park 60 m long
and 40 m wide has two concrete
crossroads running in the
middle of the park and rest of
the park has been used as a
lawn. If the area of the lawn is
2109 sq.m. then what is the
width of the road?

(a) 1 m

(b) 2 m

(c) 3 m

(d) 4 m

50. EH$ A{YH$mar {OgH$s {Z¶w{º$ 6.2.2023
{H$¶m J¶m h¡ Am¡a CgZo 31.12.2023 VH$
{H$gr ^r àH$ma H$s Nw>Å>r H$m bm^ Zht CR>m¶m
h¡, 1.1.2024 H$mo CgHo$ ImVo ‘| {H$VZm
HPL H«o${S>Q> hmoJr?

(a) 26  {XZ

(b) 27  {XZ

(c) 17  {XZ

(d) 16  {XZ

51. nm°Q> ‘| XÿY Am¡a nmZr H$m {‘lU 4 : 5 Ho$
AZwnmV ‘| h¡& ¶{X Bg‘| A{V[aº$ 8 brQ>a
XÿY ^am OmE, Vmo nm°Q> ^a OmEJm Am¡a XÿY
Am¡a nmZr H$m AZwnmV 6 : 5 hmo OmEJm& nm°Q>
H$s j‘Vm ³¶m h¡?

(a) 11

(b) 22

(c) 33

(d) 44

52. EH$ Am¶VmH$ma nmH©$ {OgH$s b§~mB© 60 ‘rQ>a
Am¡a Mm¡‹S>mB© 40 ‘rQ>a h¡, nmH©$ Ho$ ~rM ‘| Xmo
H§$H«$sQ> H$s H«$m°gamoS²>g h¢ Am¡a ~mH$s nmH©$ H$m
Cn¶moJ bm°Z Ho$ ê$n ‘| {H$¶m J¶m h¡& ¶{X
bm°Z H$m joÌ’$b 2109 dJ© ‘rQ>a h¡, Vmo
g‹S>H$ H$s Mmo‹S>mB© ³¶m h¡?

(a) 1 ‘rQ>a

(b) 2 ‘rQ>a

(c) 3 ‘rQ>a

(d) 4 ‘rQ>a
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53. If you write down all the
numbers from 1 to 100, then
how many times do you write 3?

(a) 11

(b) 18

(c) 21

(d) 20

54. In a certain office, 
1
3  of workers

are women, 
1
2  of the women are

married and 
1
3  of the married

women have children. If 
3
4  of

the men are married and 
2
3  of

the married men have children,

what parts of the workers are

without children?

(a)
5

18

(b)
11
18

(c)
17
36

(d)
4
9

53. ¶{X Amn 1 go 100 VH$ g^r g§»¶mE±
{bIVo h¢, Vmo Amn {H$VZr ~ma 3 {bIVo h¢?

(a) 11

(b) 18

(c) 21

(d) 20

54. EH$ {ZpíMV H$m¶m©b¶ ‘|, 
1
3  H$m¶©H$Vm© ‘{hbmE±

h¢, 
1
2  ‘{hbmE± {ddm{hV h¢ Am¡a 

1
3  {ddm{hV

‘{hbmAm| Ho$ ~ƒo h¢& ¶{X 
3
4  nwéf {ddm{hV

h¢ Am¡a 
2
3  {ddm{hV nwéfm| Ho$ ~ƒo h¢, Vmo {H$VZo

^mJ H$m¶©H$Vm© {~Zm ~ƒm| Ho$ h¢?

(a)
5

18

(b)
11
18

(c)
17
36

(d)
4
9
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55. In a class of 60 students, the
number of boys and girls
participating in the annual
sports is in the ratio of 3 : 2
respectively. The number of girls
not participating in the sports is
5 more than the number of boys
not participating in the sports. If
the number of boys participating
in the sports is 15, then how
many girls are there in the
class?

(a) 20

(b) 25

(c) 30

(d) 40

56. In a class of 40 students 
2
5  of

the total number of students

like to study Science, 
2
5  of the

total number like to study
Mathematics and the remaining
students like to study English.
How many students like to
study English?

(a) 8

(b) 7

(c) 6

(d) 9

55. EH$ H$jm ‘| 60 N>mÌ h¢, Omo dm{f©H$ Iobm|
‘| ^mJ boZo dmbo b‹S>Ho$ Am¡a b‹S>{H$¶m| H$s
g§»¶m H«$‘e… 3 : 2 Ho$ AZwnmV ‘| h¡& Iobm|
‘| ^mJ Zht boZo dmbr b‹S>{H$¶m| H$s g§»¶m
Iobm| ‘| ^mJ Zht boZo dmbo b‹S>H$m| H$s g§»¶m
go 5 A{YH$ h¡& ¶{X Iobm| ‘| ^mJ boZo dmbo
b‹S>H$m| H$s g§»¶m 15 h¡, Vmo H$jm ‘| Hw$b
{H$VZr b‹S>{H$¶m± h¢?

(a) 20

(b) 25

(c) 30

(d) 40

56. 40 N>mÌm| H$s EH$ H$jm ‘| Hw$b N>mÌm| ‘| go
2
5  {dkmZ n‹T>Zm ng§X H$aVo h¢, Hw$b g§»¶m

‘| go 
2
5 J{UV n‹T>Zm ng§X H$aVo h¢ Am¡a eof

N>mÌ A§J«§Or n‹T>Zm ng§X H$aVo h¢& {H$VZo N>mÌ
A§J«oOr n‹T>Zm ng§X H$aVo h¢?

(a) 8

(b) 7

(c) 6

(d) 9
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57. 3 birds fly along the
circumference of a jungle. They
complete one round in
18 minutes, 45 minutes and
63 minutes respectively. Since
they start together, when will
they meet again at the starting
position?

(a) 126 minutes

(b) 630 minutes

(c) 210 minutes

(d) 3 hours

58. The salary of the workers of a
factory increases by 10% per
month. If the salary in January
was R 5,000, what will be his
approximate salary in month
March of the same year?

(a) R 6,000

(b) R 6,030

(c) R 6,010

(d) R 6,050

59. A TV was bought at a price of
R  21,000. After one year the
value of the TV was depreciated
by 5% (Depreciation means
reduction of value due to use
and age of the item). The value
of the TV after one year is ____.

(a) R  20,000

(b) R  19,950

(c) R  19,800

(d) R  19,900

57. 3 njr EH$ O§Jb H$s n[a{Y ‘| C‹S>Vo h¢& do
H«$‘e… 18 {‘ZQ>, 45 {‘ZQ> Am¡a 63 {‘ZQ
‘| EH$ M¸$a nyam H$aVo h¢& My±{H$ do EH$ gmW
Ama§̂  H$aVo h¢, do Ama§{^H$ ñWmZ nwa nwZ…
H$~ {‘b|Jo?>

(a) 126 {‘ZQ>

(b) 630 {‘ZQ>

(c) 210 {‘ZQ>

(d) 3 K§Q>m

58. EH$ H$maImZo Ho$ l{‘H$m| H$m doVZ à{V ‘mh
10% ~‹T> OmVm h¡& ¶{X OZdar ‘| doVZ
5,000 én¶o Wm, Vmo Cgr df© ‘mM© ‘hrZo ‘|
CgH$m AZw‘m{ZV doVZ ³¶m hmoJm?

(a) é. 6,000

(b) é. 6,030

(c) é. 6,010

(d) é. 6,050

59. EH$ Q>rdr én¶o  21,000 H$s H$s‘V na
I[aXm J¶m Wm& EH$ df© Ho$ ~mX Q>rdr Ho$
‘yë¶ ‘| 5% H$s {JamdQ> AmB© (‘yë¶mõmg H$m
AW© h¡ Cn¶moJ Am¡a dñVw H$s C‘« Ho$ H$maU
‘yë¶ ‘| H$‘r)& EH$ df© Ho$ ~mX Q>rdr H$m
‘yë¶ _____ h¡&

(a) R  20,000

(b) R  19,950

(c) R  19,800

(d) R  19,900
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60. A shopkeeper purchased two
varieties of wheat, 80 kg at
R 13·50 per kg and 120 kg at
R 16 per kg. The shopkeeper
being greedy, mixed the two
varieties of wheat and sold the
mixture at a gain of 16%. Find
the per kg selling price of the
mixture.

(a) 17·40

(b) 20·40

(c) 21·35

(d) None of the above

61. If log2 = .301, find the number
of digits in (125)25

.

(a) 53

(b) 50

(c) 25

(d) 63

62. The product of two numbers is
4107. If the H.C.F. of these
numbers is 37, then the greater
number is

(a) 111

(b) 101

(c) 107

(d) 185

60. EH$ XþH$mZXma Zo Xmo {H$ñ‘ Ho$ Johÿ± IarXo, 80
{H$bmoJ«m‘ Johÿ± 13·50 én¶o à{V {H$bmoJ«m‘ H$s
Xa go Am¡a 120 {H$bmoJ«m‘ Johÿ± 16 én¶o à{V
{H$bmoJ«m‘ H$s Xa go& bmbMr XþH$mZXma Zo Johÿ±
H$s Xmo {H$ñ‘m| H$mo {‘bm {X¶m Am¡a {‘lU H$mo
16% Ho$ bm^ na ~oM {X¶m& {‘lU H$m à{V
{H$bmoJ«m‘ {dH«$¶ ‘yë¶ kmV  H$s{OE&

(a) 17·40

(b) 20·40

(c) 21·35

(d) Cnamoº$ ‘| go H$moB© Zht

61. ¶{X log2 = .301 h¡, Vmo 25(125)  ‘|
A§H$m| H$s g§»¶m kmV H$s{OE&

(a) 53

(b) 50

(c) 25

(d) 63

62. Xmo g§»¶mAm| H$m JwUZ’$b 4107 h¡& ¶{X BZ
g§»¶mAm| H$m H.C.F 37 h¡, Vmo ~‹S>r g§»¶m
H$m¡Z-gr h¡?

(a) 111

(b) 101

(c) 107

(d) 185
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63. Five farmers have 7, 9, 11, 13
and 14 apple trees respectively
in their orchards. Last year each
of them discovered that every
tree in their own orchard yields
exactly the same number of
apples. Further, if the 3rd
farmer gives one apple to the 1st
and the 5th gives 3 to each of
the 2nd and 4th, they would all
exactly have the same number
of apples, what were the yields
per tree in the orchards of the
3rd and 4th farmers?

(a) 17 and 9

(b) 11 and 9

(c) 9 and 9

(d) 9 and 11

64. From a group of 8 men and 5
women, 5 persons are to be
selected to form a committee so
that at least 3 men are there on
the committee. In how many
ways can it be done?

(a) 950

(b) 846

(c) 966

(d) None of the above

63. nm§M {H$gmZm| Ho$ ~JrMm| ‘| H«$‘e… 7, 9, 11,
13 Am¡a 14 go~ Ho$ no‹S> h¢& {nN>bo gmb
CZ‘| go àË¶oH$ Zo nm¶m {H$ CZHo$ AnZo ~JrMo
Ho$ àË¶oH$ no‹S> ‘| {~ëHw$b g‘mZ g§»¶m ‘| go~
bJo h¢& BgHo$ Abmdm, ¶{X Vrgam {H$gmZ
nhbo H$mo EH$ go~ XoVm h¡ Am¡a nm§Mdm§ {H$gmZ
Xÿgao Am¡a Mm¡Wo H$mo 3 go~ XoVm h¡, Vmo CZHo$
nmg {~ëHw$b g‘mZ g§»¶m ‘| go~ hm|Jo, Vrgao
Am¡a Mm¡Wo {H$gmZm| Ho$ ~JrMm| ‘| à{V no‹S> CnO
{H$VZr Wr?

(a) 17 Am¡a 9

(b) 11 Am¡a 9

(c) 9 Am¡a 9

(d) 9 Am¡a 11

64. 8 nwéfm| Am¡a 5 ‘{hbmAm| Ho$ EH$ g‘yh ‘| go
5 ì¶{º$¶m| H$mo EH$ g{‘{V ~ZmZo Ho$ {bE MwZm
OmZm h¡ Vm{H$ g{‘{V ‘| H$‘ go H$‘ 3 nwéf
hm|& ¶h {H$VZo VarH$m| go {H$¶m Om gH$Vm h¡?

(a) 950

(b) 846

(c) 966

(d) Cnamoº$ ‘| H$moB© Zht
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65. In a class of 80 students, 40
opted for Mathematics, 33 opted
for Biology and 12 opted for
both. How many of the students
have not opted for any of the
subjects?
(a) 15
(b) 20
(c) 19
(d) 17

66. How many integers, greater
than 999 but not greater than
4000, can be formed with the
digits 0, 1, 2, 3 and 4, if
repetition of digits is allowed?
(a) 376
(b) 375
(c) 500
(d) 673

67. In the given questions, a few
statements have been given
followed by conclusions based
on them. Consider the
statements to be true and
answer which of the given
conclusions logically follow the
statement.

Statement :
I. All buildings are chalks

II. No chalk is toffee

Conclusion :
I. No building is toffee

II. All chalks are buildings

(a) Only conclusion (I) follows

(b) Only conclusion (II) follows

(c) Neither (I) nor (II) follows

(d) Both (I) and (II) follow

65. 80 N>mÌm| H$s EH$ H$jm ‘|, 40 Zo J{UV, 33
Zo Ord{dkmZ VWm 12 Zo XmoZm| {df¶ MwZo&
{H$VZo N>mÌm| Zo H$moB© ^r {df¶ Zht MwZm h¡?
(a) 15
(b) 20
(c) 19
(d) 17

66. {H$VZo nyUmªH$, 999 go ~‹S>o bo{H$Z 4000 go
~‹S>o Zht, A§H$m| 0, 1, 2, 3 Am¡a 4 Ho$ gmW
~ZmE Om gH$Vo h¢, ¶{X A§H$m| H$s nwZamd¥{Îm
H$s AZw‘{V h¡?

(a) 376

(b) 375

(c) 500

(d) 673

67. {XE JE àíZ ‘| Hw$N> H$WZ {XE JE h¡§ Am¡a
CZHo$ AmYma na {ZîH$f© {XE JE h¢& H$WZm|
H$mo gË¶ ‘mZo§ Am¡a CÎma X| {H$ {XE JE
{ZîH$fm] ‘| go H$m¡Z-gm H$WZ H$m Vm{H©$H$ ê$n
go AZwgaU H$aVm h¡&

H$WZ :

 I. g^r B‘maV| MmH$ h¢&

II. H$moB© MmH$ Q>m°’$s Zht h¡§&

{ZîH$f© :

 I. H$moB© B‘maV Q>m°’$s Zht h¢&

II. g^r MmH$ B‘maV| h§¡&

(a) Ho$db {ZîH$f© (I) AZwgaU H$aVm h¡

(b) Ho$db {ZîH$f© (II) AZwgaU H$aVm h¡

(c) Z Vmo (I) Am¡a Z hr (II) AZwgaU H$aVm
h¡

(d) XmoZm| (I) Am¡a (II) AZwgaU H$aVo h¢
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68. Find the missing term in the
given series

2, 
9
2 , 

28
3 , 

65
4

(a)
126

5

(b)
95
5

(c)
113

5

(d) 15

69. A series is given with one term
missing. Select the correct
alternatives from the given ones
that will complete the series

 BM, FQ, JU, ?, RC

(a) MX

(b) MZ

(c) NY

(d) OY

68. Xr JB© l¥§Ibm ‘| bwá nX kmV H$s{OE&

      2, 
9
2 , 

28
3 , 

65
4

(a)
126

5

(b)
95
5

(c)
113

5

(d) 15

69. EH$ l¥§Ibm Xr JB© h¡, {Og‘| EH$ nX bwá h¡&
{XE JE {dH$ënm| ‘| go dh ghr {dH$ën
Mw{ZE, Omo l¥§Ibm H$mo nyam H$aoJm&

BM, FQ, JU, ?, RC

(a) MX

(b) MZ

(c) NY

(d) OY
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(Direction 70-72) : Read the given
information carefully and answer the
questions that follow :
Eleven friends M, N, O, P, Q, R, S, T,
U, V and W are sitting in the first row
of the stadium watching a cricket
match :

 T is to the immediate left of
P and third to the right to U.

 V is the immediate neighbor
of M and N and third to the
left of S.

 M is the second to the right
of Q, who is at one of the
ends.

 R is sitting next to the right
of P and P is second to the
right of O.

70. Which of the following
statements is true with respect
to the above arrangement?
(a) There are three persons

sitting between P and S
(b) W is between M and V
(c) N is sitting between V and U
(d) S and O are neighbors

sitting to the immediate
right of T

71. Who are the immediate
neighbors of T?
(a) O, P
(b) O, R
(c) N, U
(d) V, U

72. If Q and P, O and N, M and T,
and W and R interchange their
positions, then which of the
following pairs of friends is
sitting at the ends?
(a) P and Q
(b) Q and R
(c) P and W
(d) W and R

({ZX}e 70-72) : Xr JB© OmZH$mar H$mo Ü¶mZnyd©H$
n‹T>o Am¡a CgHo$ ~mX AmZo dmbo àíZm| Ho$ CÎma X|&

½¶mmah {‘Ì M, N, O, P, Q, R, S, T, U, V
Am¡a W ñQ>o{S>¶‘ H$s nhbr n§{º$ ‘| ~¡R>H$a {H«$Ho$Q> ‘¡M
XoI aho h¢&

 T, P Ho$ R>rH$ ~mB© Amoa Am¡a U Ho$ XmB©
Amoa Vrgam h¡&

 V, M Am¡a N H$m {ZH$Q>V‘ n‹S>mogr h¡
Am¡a N Ho$ ~mB© Amoa Vrgam h¡&

 M, Q Ho$ XmB© Amoa Xþgam h¡, Omo EH$
N>moa na h¡&

 R, P Ho$ XmB© Amoa ~¡R>m h¡ Am¡a P, O
Ho$ XmB© Amoa Xÿgam h¡&

70. Cnamoº$ ì¶dñWm Ho$ g§~§Y ‘| {ZåZ{b{IV ‘|
go H$m¡Z-gm H$WZ gË¶ h¡>?

(a) P Am¡a S Ho$ ~rM VrZ ì¶{º$ ~¡R>o h¡

(b) W, M Am¡a V Ho$ ~rM ‘| h¡

(c) N, V Am¡a U Ho$ ~rM ‘| ~¡R>m h¡

(d) S Am¡a O n‹‹S>mogr h¢ Omo T Ho$ g‘rn XmBª
Amoa ~¡R>o h¡§

71. T Ho$ {ZH$Q>V‘ n‹‹S>mogr H$m¡Z h¡?
(a) O, P
(b) O, R
(c) N, U
(d) V, U

72. ¶{X Q Am¡a P, O Am¡a N, M Am¡a T, VWm
W Am¡a R AnZr pñW{V Amng ‘| ~Xb b|,
Vmo {ZåZ{b{IV ‘| go H$m¡Z-gm {‘Ì ¶w½‘ N>moa
na ~¡R>m h¡?

(a) P Am¡a Q

(b) Q Am¡a R

(c) P Am¡a W

(d) W Am¡a R
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73. In the Venn diagram given
below, if ‘Hexagon’ represents
‘Farmers’, ‘Triangle’ represents
‘Villagers’ and ‘Square’
represents ‘Beneficiaries’, then
how many farmers are there
who are villagers and
beneficiaries also?

(a) 9

(b) 5

(c) 11

(d) 18

74. When the letters of the word
ENTERPRISES are arranged
alphabetically, which letter will
be at the 9th position from left?

(a) N

(b) P

(c) R

(d) S

73. ZrMo {XE JE doZ AmaoI ‘|, ¶{X "fQ²> ŵO'
"{H$gmZm|' H$mo Xem©Vm h¡, "{Ì ŵO' J«m‘rUm| H$mo
Xem©Vm h¡ Am¡a "dJ©' "bm^m{W©¶m|' H$mo Xem©Vm
h¡, Vmo {H$VZo {H$gmZ h¢ Omo J«m‘rU Am¡a
bm^mWu ^r h¢?

(a) 9

(b) 5

(c) 11

(d) 18

74. O~ ENTERPRISES eãX Ho$ Ajam| H$mo
dUm©ZwH«$‘ ‘| ì¶dpñWV {H$¶m OmVm h¡, Vmo
H$m¡Z-gm Aja ~m§E Amoa go 9d| ñWmZ na
hmoJm>?

(a) N

(b) P

(c) R

(d) S



SA01/36-A ( 29 ) [ P.T.O.

75. A is two years older than B who
is twice as old as C. Sum of the
ages of A, B and C is 32, then
how old is B?

(a) 12

(b) 10

(c) 8

(d) 16

76. Which of the following was used
in programming the first
computers?

(a) Object code

(b) Machine language

(c) Assembly language

(d) Source code

77. _____ are a kind of special keys
usually uses to turn a feature
ON and OFF like capslock and
Num lock keys.

(a) Toggle keys

(b) Navigation keys

(c) Function keys

(d) Numeric keys

75. A, B go Xmo df© ~‹S>m h¡ Omo C go XmoJwZm ~‹S>m
h¡& A, B Am¡a C H$s Am¶w H$m ¶moJ 32 h¡,
Vmo B H$s Am¶w {H$VZr h¡?

(a) 12

(b) 10

(c) 8

(d) 16

76. {ZåZ{b{IV ‘| go {H$gH$m Cn¶moJ nhbo
H§$ß¶yQ>am| H$mo àmoJ«mo‘ H$aZo ‘| {H$¶m OmVm Wm?

(a) Am°ãOo³Q> H$moS>

(b) ‘erZ b¢½doO

(c) Ag§o~br b¢½doO

(d) gmog© H$moS>

77. _____ EH$ àH$ma H$s {deof Hw§${O¶m± h¢
{OZH$m Cn¶moJ Am‘Vm¡a na {H$gr ’$sMa H$mo
Am°Z Am¡a Am°’$ H$aZo Ho$ {bE {H$¶m OmVm h¡
O¡go Capslock Am¡a Num lock Hw§${O¶m±>&

(a) Q>m°Jb Hw§${O¶m±

(b) Zo{dJoeZ Hw§${O¶m±

(c) ’§$³eZ Hw§${O¶m±

(d) g§»¶mË‘H$ Hw§${O¶m±
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78. Which of the following is the
another term used for software
hosting?

(a) Cloud computing

(b) On demand service

(c) Software as a service or SAAS

(d) All of the above

79. Which of the following is not a
valid logical formula in Excel?

(a) AND

(b) IF

(c) FALSE

(d) NOR

80. What do we call a malicious
program that is appended to an
application and is triggered by a
specific event, such as a logical
condition or a specific date and
time?

(a) Worm

(b) Adware

(c) Logic bomb

(d) Stealth virus

78. {ZåZ{b{IV ‘| go H$m¡Z-gm gm°âQ>do¶a hmopñQ>¨J
Ho$ {bE à¶wº$ EH$ AÝ¶ eãX h¡?

(a) ³bmCO H§$ß¶yqQ>J

(b) Am°Z {S>‘m§S> g{d©g

(c) gm°âQ>do¶a EoO A g{d©g ¶m EgEEEg

(d) Cnamoº$ g^r

79. {ZåZ{b{IV ‘| go H$m¡Z-gm E³gob ‘| d¡Y
bm°{OH$b ’$m°‘y©bm Zht h¡>§?

(a) AND

(b) IF

(c) FALSE

(d) NOR

80. h‘ Cg Xþ̂ m©dZmnyU© àmoJ«m‘ H$mo ³¶m H$hVo h¢
Omo {H$gr EpßbHo$eZ go Ow‹S>m hmoVm h¡ Am¡a EH$
{d{eï> KQ>Zm Ûmam {Q´>Ja hmoVm h¡, O¡go EH$
Vm{H©$H$ pñW{V ¶m EH$ {d{eï> {V{W Am¡a
g‘¶?

(a) d‘©

(b) ES>do¶a

(c) bm°{OH$ ~m°å~

(d) ñQ>oëW dm¶ag
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81. Which of the following web
search engine, was developed by
Microsoft?

(a) Bing

(b) Yahoo

(c) Google

(d) Altavista

82. Which of the following does not
qualify as application software?

(a) Windows 10

(b) Microsoft Word

(c) Adobe Photoshop

(d) Google Chrome

83. What is the extension of
LibreOffice Calc Spreadsheet?

(a) .odt

(b) .ods

(c) .docx

(d) .xls

81. {ZåZ{b{IV ‘| go H$m¡Z-gm do~ gM© B§OZ
‘mBH«$mogm°âQ> Ûmam {dH${gV {H$¶m J¶m Wm?

(a) q~J

(b) ¶mhÿ

(c) JyJb

(d) AëQ>m{dñQ>m

82. [ZåZ{b{IV ‘| go H$m¡Z-gm EßbrHo$eZ
gm°âQ>do¶a Zht ‘mZm Om gH$Vm?

(a) qdS>moO 10

(b) ‘mBH«$mogm°âQ> dS>©

(c) ES>mo~ ’$moQ>moem°n

(d) JyJb H«$mo‘

83. {b~aAm°{’$g H¡$ëH$ ñàoS>erQ> H$m E³gQ>|eZ
³¶m h¡?

(a) .odt

(b) .ods

(c) .docx

(d) .xls
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84. {b~«o Am°{’$g Båàog {H$g Vah H$m àmoJ«m‘ h¡?

(a) ñàoS>erQ>

(b) dS>© àmogoqgJ

(c) àoO|Q>oeZ

(d) Cnamoº$ ‘| go H$moB© Zht

85. ãbm°H$MoZ ³¶m h¡?

(a) nr¶a Qy> nr¶a ZoQ>dH©$ na {dV[aV ImVm
~hr

(b) EH$ àH$ma H$s {H«$ßQ>moH$a|gr

(c) EH$ H|$ÐrH¥$V ImVm ~hr

(d) EH$ ‘wÐm

84. What kind of program is
LibreOffice impress?

(a) Spreadsheet

(b) Word Processing

(c) Presentation

(d) None of the above

85. What is Blockchain?

(a) A distributed ledger on a
peer to peer network

(b) A type of cryptocurrency

(c) A centralized ledger

(d) A currency
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86. Find out which part of a
sentence has an error, and the
appropriate letter (a, b, c, d) is
your answer. If there is no error,
d is the answer.

(a) In summer, days are

(b) warm than

(c) nights

(d) No error

87. Choose the correct word for the
blank :

He said that there was no going
back because his decision
was _____

(a) peremptory

(b) premeditated

(c) parsimonious

(d) palatable

88. Choose the correct meaning of
idiomatic expressions :

To bury the hatchet

(a) To dispute over small things

(b) To destroy

(c) To make peace

(d) To repair a costly furniture

89. Choose the prepositions best
suited in the sentences given
below :

The apple was divided equally
_____ all of us.

(a) between

(b) among

(c) to

(d) with

90. Choose from the alternatives a
word which is nearest in
meaning (Synonym) to the given
word :

SPORADIC

(a) Epidemic

(b) Whirling

(c) Occasional

(d) Stagnant

91. Choose the word opposite
(Antonym) in meaning to the
given word :

PONDEROUS

(a) Elegant

(b) Thoughtless

(c) Empty

(d) Light
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92. Choose the most appropriate
preposition :

Very often we do not get what
we pine _____.

(a) about

(b) for

(c) at

(d) on

93. Choose the option which can be
substituted for the given words/
sentence.

Capable of using both left and
right hands

(a) Amateur

(b) Ambiguous

(c) Ambidextrous

(d) Connoisseur

94. From the following group of
words choose the correctly spelt
word :

(a) Cantenkorous

(b) Cantancrous

(c) Cantankerous

(d) Contankrous

95. Choose the correct degree of
adjectives for the sentence from
the given options.

The old woman’s hair was as
_____ as snow.
(a) white
(b) whiter
(c) more white
(d) whitest

96. Select the most appropriate
sentence to conclude the
paragraph :

The symphony orchestra
delivered a mesmerizing
performance, captivating the
audience with its precision and
passion. Each note resonated
through the concert hall,
evoking a range of emotions
from joy to melancholy. As the
final crescendo filled the air, the
audience erupted into
thunderous applause,
expressing their admiration and
appreciation for the musicians’
talent and dedication.

Which of the following
sentences would provide the
most suitable conclusion?

(a) With the concert concluded,
the audience dispersed

(b) The orchestra’s performance
was a triumph, leaving a
lasting impression on all
who attended

(c) As the curtain fell, the
musicians bowed graciously,
acknowledging the
audience’s standing ovation

(d) In the silence that followed,
the audience reflected on
the beauty of the theatre
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97. In the question given below,
passage consists of six
sentences. The first and sixth
sentences have been given
towards the beginning and end
of each question respectively
i.e., S1 and S6. The middle four
sentences are jumbled up. They
are lebelled as E, F, G and H.
Find the proper order for these
middle four sentences.

S1 First go to the library and
see the clerk.

E The clerk keeps the tickets
until you return the book.

F After filing a form, you are
given two/three tickets with
your name and address.

G He stamps the books for you.

H After you have chosen the
books, you take them to the
clerk with the tickets.

S6 Book must be given back to
the library before the date.

(a) GEHF

(b) FHGE

(c) FEHG

(d) HEGF

98. Fill in the blank with a suitable
article from the given options.

Can you tell me in which
direction _____ railway station
is?

(a) the

(b) a

(c) an

(d) there

99. Choose the correct pronoun
from the given options to fill in
the blank.

These mangoes are bigger than
_____.

(a) that

(b) them

(c) those

(d) whose

100. Arrange the words given below
as per order in the dictionary.

I. Bastion

II. Random

III. Arduous

IV. Banal

V. Bear

(a) IV, I, V, II, III

(b) I, V, II, III, IV

(c) III, IV, II, V, I

(d) III, IV, I, V, II
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SPACE FOR ROUGH WORK
aµ’$ H$m¶© Ho$ {bE
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SPACE FOR ROUGH WORK
aµ’$ H$m¶© Ho$ {bE
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SPACE FOR ROUGH WORK
aµ’$ H$m¶© Ho$ {bE
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SPACE FOR ROUGH WORK
aµ’$ H$m¶© Ho$ {bE
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SPACE FOR ROUGH WORK
aµ’$ H$m¶© Ho$ {bE


